MHERE (MEMGHNK - EXRREELGHH) oMot

1. BEBEREORKIZONT

0254 QEZMAHE (it BIMROMIE) AARINI=C LIS, 2022628 ~20225F4 A OFHRAMEASEE LN -LELEDT,
002FTANEIHMEITERAT SRHMBERABORNRESHMOELET,

2. ¥EHET
OBt Mt #A RIS & U AMBEML RIS T
2022418 ~2022438 202242 H ~2022448
EL 1 ES 1
F YR H @O 62, 386 Akl 71, 321 Akl
i okl A 22,402 At 25, 443 At
OB oM @ 47,000 Akl 53, 600 Akl

3. MHERRNER
XH R EE S ARERLEESATEY ET,

OEEHM (100VEL(F200V) OEFSEDOHE

- RERHSKEORE (CEARICHELTHEZEXMVOWEEVWTOSRE)
RBEEEAE=RNARBEM < EAEHE (kWh)

X 4 2022456 A 5 20224 7R % 1
—_— 1 ZHBMO O kIhET 17 B 37 & 29 M 07 $% 11 M 70 &
okh%Z %% 1kihi= D& 1M 93 8 3 M 23 & 1 M 30 &
RS R R ) LR 3725 8 LEXL
- EEFHGQOBE (CEASAIBEMCHELTHEZEXHLOVEEVTISRE)
AREEEAE=BNS L CNERBLEORHERREHOS
X 2 2022466 A & 20224 1R % 12
1WETD 1 4TIz &E* 7 M 50 #% 12 M 55 §% 5 /M 05 §%
1WZE Z 2 200ETH 142D 14 M 98 £% 25 [ 08 £ 10 M@ 10 £%
r 200% Z ZAWETOD 1 4TIZDE 29 M 98 £ 50 A 17 & 20 M 19 §#
. 400E Z ZR6ONETD 14TISDE 44 1 96 % 75 M 24 & 30 M 28
600% Z X 1000WETD 1 4TIZD = 74 M 94 8 125 M 41 & 50 M 47 &
DREEITA 1000Z =% 5 1 K-> =500 E T & = 37 /@ 48 8 62 @ 11 & 2 M 23 &
S50VAETO 1#55IcD= 22 M 39 & 37 [ 47 & 15 M 08 £%
1’%‘% 50VA% C Z 100VAE T 1 #8512 D% 44 1 77 & 74 M 92 & 30 M 15 &
100VAZ Z % % 1 #4881 DE50VAE T &I 22 M 39 &% 37 [ 47 & 15 M 08 £%
BREEHSOVAZETOBE 0 M 61 & 1M 02 $ 0 M 41 &
BAENE0VAZ Z 2 100VAETDHE 1A 21 & 2 M 02 & 0 M 81 g
[EERATL ) [RERAI00AEC ASOAZTOBAI0AET £l 1A 21 & 2 @ 02 & 0 M 8l &
BAENE00VAZ C X 1KVAETOHE 12 M 08 £% 20 M 22 & 8 M 14 &
BAEEMIKVAZZ X SKVAZTOBA 1kVAET &I 12 M 08 £% 20 M 22 & 8 M 14 &
e LHEAN. 5KIDBE. 1HIZDE 6 M 35 & 10 M 63 £% 4 M 28 g%
ZHBAMN TN LEDBE. 1KW1 BIZDE 12 M 70 £ 21 M 25 $& 8 M 55 &%
BREHA 182#ico= 192 M 96 &% 322 M 92 &% 129 M 96 §
NERURELS ORBESE (REES S ULAREBTAOHEISOVTORBIEE ISLYBE
OEE (6,000V) &XUHERIEE (30, 000VEF= (360, 000V) SIDEESFDEA
HEAREAA=RHAARYEx ERENE ()
X 4 2022466 A 5 20224 7R % 1
BEHRER ( Mj’%ﬁi%\? oo?%%fo?iﬁi ) 1F85 & SA0& 128
wEERe  ( wemme i DEEEALE  ogs ) 1 F 80 8 3/ 02 # 1/ 22 8

‘t@ETARY OO X2t



